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l. If a trailer’s dimensions are 40 x 487, what would be the measure %f the hypotenuse to the nearest 1/8
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?. If a trailer’s dimensions are 5 ft x 8 ft, what would be ﬂ%f measure of the hypotenuse to the nearest 1/16
inch? 5“ Cz:d.‘ +L)2 . '-{?Qf - /20{ [[D
= 4 J—g, -"ﬁj ‘5-
¢ s/r ’?—:.OZS‘:‘)‘(D T
153, FEEY st
, - 20
q 51(0 (- C - ‘3}4310% 25¢ =3 ot

3. You are a shelf bracket in the shape of a right triangle. It has si%ers of 77 and 9”. What 15 the length ol the

diagonal to the nearest 1/16 inch? g H c = 7'2 i q ) N _ 'J‘
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4, The base of a 12-foot ladder is placed 5.5 feet from the side of a house. How far up the side of the house

| will the ladder reach to the nearest tenth of a foot. C Z &"?_ + b [&
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5. According to the Americans with Disabilities Act, wheelchair ramps must have 1 foot of rise for every 12 feet ir
length. If a ramp has a rise of 4 ft and a run of 48 ft, what is the (diagonal) length of the ramp‘?
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6. Find the missing side length to the nearest tenth.
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7. Find the missing side length to the nearest tenth. - N loz
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8. You have a rectangular steel plate with dimcnsions of 5 x 8’and a diagonals of 953— Is the plate vl
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9. A window frame has a height of 32 in, a length of 60 in, and diagonals with lengths of 68 in. Is the window
[rame “squared™? — k0"
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10.  Paul wants to create a square garden bed with sides of 4 ft. Explain how Paul can determine if his garden
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